
102 103 104

Time steps t= 1. . . T, horizon T= 10000, 

1600

1400

1200

1000

800

600

400

200

0
Cu

m
ul

at
iv

e 
ce

nt
ra

liz
ed

 re
gr

et
 t

9 ∑ k
=

1µ
∗ k
−

t ∑ s
=

1

9 ∑ k
=

1µ
k
(s

)
20

0
[A

j
(t

)
=
k
, C

j
(t

)]

Multi-players M= 9 : Cumulated centralized regret, averaged 200 times
9 arms: [B(0.1) ∗ , B(0.2) ∗ , B(0.3) ∗ , B(0.4) ∗ , B(0.5) ∗ , B(0.6) ∗ , B(0.7) ∗ , B(0.8) ∗ , B(0.9) ∗ ]

CentralizedMultiplePlay(kl-UCB)
Selfish-kl-UCB
RhoRand-kl-UCB
MCTopM-kl-UCB


